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GUJARATI 

Paper II 

(Literature) 

Time Allowed : Three Hours 

 

Maximum Marks : 300 

  

INSTRUCTIONS 

Candidates should attempt questions no. 1 and 5 
which are compulsory, and any THREE of the 
remaining questions, selecting at least ONE 

question from each Section. 

The number of marks carried by each question 
is indicated at the end of the question. 

Answers must be written in Gujarati. 

IMPORTANT : Whenever a question is being 
attempted, all its parts/sub-parts must be attempted 

contiguously. This means that before moving on to 
the next question to be attempted, candidates must 

finish attempting all parts/sub-parts of the previous 
question attempted. This is to be strictly followed. 

Pages left blank in the answer-book are to be 
clearly struck out in ink. Any answers that 

follow pages left blank may not be given credit. 

G-DTN-M-HVKB 
	

1 	 [Contd.] 



SECTION A 

1. 414 zaki. 22q 	 ki.N6441. 

(150 klo-thAl) 
	

12x5=60 

(a) `WI.4ti act QiVt 

zic14 

(b) bag, z1.31%12 0-11%e 

(c) '21:6 zii.126. 2t<4 kE, 

•ie 	EtZ -112 

21.0 M. 14.2oti. 

112(d.i. 	MIA' 

(d) `z12E911 -tiR 24.2, 	Q4e1A. 	z4' 41$ €114.1k 

21.1(-1. cP1.1(4, F.M41. F.YAL&I.R 221.1.(1' 

(e) ONREll DLL 	1-1ruiCi ltalkl(-1. mil  al1.,  2.102 

Q-4§(11 

2. 	 wilcitiotb 

(250 k14E-11-1I) 
	

20x3=60 

(a)  

(b) ticti.21 	 'US 1211 

mcq. 6. 

(c) ‘zo1311.(-tr 	Zeibikri mzu. M4 31.Roti. moia 6. 
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3. •a-11. 02 (Ail. 144ztrus--4{ -iI.4 (-1.141. (400 
30x2=60 

(a) VI:41?-1.[k1' 1-1141 31Dle 	E21-1. 21.31.6)441A 

ei.cu-tu.-1.P. (la 

(b) zif1Dad11{141 Wleq ziNAtf(4.c-t 

Nikzttl. 52141.4~t~al-j 3Rd151ck1 

4. 	 1PT z)14 2iEe-tkist 5:01.6441. 

(200 gio-alii) 
	

15 x4=60 

(a) act'. -4.tre1rtrt q•tic-11541 6. 

(b) Ni 6E4 14E4, 141444Ritt 

2.I.R1cl 6. 

(c) RC-tai: 	 6. 

(d) `W,12{.14R' &Hsi 

&a. 
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SECTION B 

5. 111401.1. 1  Qq 2its a(4 1.0 

(150 

(a) oiler 6, 	co{ 6: 

(b) E'1,11 0-11.1-1Stratt anti" ok.tA01131 Dm 6 

? a 	-lea: 

(c) TIA 61)-6)A6 tilt{ 

(d) MA GAR (eta 

R2-1.1():tp{i4r1 11.312 zw.. 6: 

(e) m1 	zmi-ut 	cll. 	Q;t4 Maki. C-114. 

6. 	144ztrticlt& P.c1.2t;1 &a. (400 kvalti) 
30x2=60 

(a) 1̀41.2trirt meActi.s 4Rolitb -tciethzu d.R11 

(b) ‘mstott-Eumi:i ray -14R (141.1 

7. 	Ru R4ztettoi, 414 awl. (400 
30x2=60 

(a) zi.4 

(b) '42 q241 	wTir 	moiecti 	"tik ftra 

clA;Iirt&C-1t MA kictlE&C-1.1 klga. 
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8. rilAra 1114 Re. &&-ilEt 	(2oo uo-alti) 	15x4=60 

(a) &L 4L 014-401.4. 

(b) `..ctra' -11 oth-Rztruz4li eitg.RN 

(c) w-Lic-Ncts 	 Q4eibte zi4.4 

(d) `2.1.1R1:01. RRIE4R-1' -Li r1.1.41 	 3Plecti 

)1.4 	tiRtik41. 
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